
Station 1: I can factor a trinomial where a = 1. 

 

  



Station 1: I can factor a trinomial where a≠1. 

 

a) Factor 3y2-8y-3 

 

 

b) Factor 4m2+13m+3 

 

  



Station 2: I can factor the difference of two squares. 

First multiply these factors: 

1) (x-4)(x+4) 

2) (x+3)(x-3) 

3) (3x-1)(3x+1) 

4) (2x2+3)(2x2-3) 

5) What pattern do you notice is always true when you multiply    

(a+b)(a-b)? 

 

Now use the pattern in reverse: 

6) Factor 9x2-25 

7) Factor 16-z4 

  



Station 3: I can solve a quadratic equation by factoring. 

 

 

  
Solve by factoring: 

a) 3x2-22x+7=0 

 

b) w2 + 8w = -7 



 

Station 5: I can solve a quadratic equation with a perfect 

square trinomial by factoring. 

First multiply these factors together to find the pattern. 

1) (x+4)2 or (x+4)(x+4) 

2) (m-3)2 or (m-3)(m-3) 

3) (2p+5)2 

4) (3x-1)2 

5) What patterns do you notice between the factors and the products? 

6)  Use the patterns to write 9z2+30z+25 in factored form. 

7)  Solve the following equation by factoring the perfect square trinomial on 

the left then square rooting: 9z2+30z+25= 0 

 

 



Station 4: I can identify the axis of symmetry without a calculator. 

Standard Form of a Quadratic Function: y = ax2 + bx + c 

 

  

Given each quadratic equation, write the equation for the axis of 

symmetry of the graph. 

a) 𝑓(𝑥) =  6𝑥2 + 24𝑥 − 10 

 

b) ℎ(𝑡) =  −16𝑡2 + 120𝑡 + 3 



Station 4: I can sketch a graph of a quadratic without my calculator. 

 

 

  

  

 

 



Station 7: I can solve a quadratic equation using a calculator. 

 

 
 

 
 

 

  

First, set the function equal to zero. Then… 



Station 6: I can solve a quadratic equation using the quadratic formula. 

 

 

 

 



Station 8: I can complete the square to solve a quadratic equation. 

A perfect square trinomial is the result of squaring a binomial.  For example, 

(2𝑥 + 3)2 = (2𝑥 + 3)(2𝑥 + 3) 

= 2𝑥(2𝑥 + 3) + 3(2𝑥 + 3) 

= 4𝑥2 + 6𝑥 + 6𝑥 + 9 

= 4𝑥2 + 12𝑥 + 9 

The pattern is always the same with a perfect square trinomial: 

The first term is a perfect square: 4𝑥2 = (2𝑥)2 

The last term is a perfect square: 9 = 32 

And the middle term is twice the product of the roots of the first and last: 12𝑥 = 2 ∙ (2𝑥) ∙ 3 

So, (𝑎𝑥 + 𝑏)2 = 𝑎2𝑥2 + 2𝑎𝑥𝑏 + 𝑏2 

Use this pattern to determine the unknown value needed to make each expression a perfect square trinomial.  Then write the trinomial as a 

binomial squared. 

Example: 𝑥2 + 6𝑥 + 9 = (𝑥 + 3)2  

 



 

 

 

 

  



Station 9: I can complete the square to write a quadratic equation in vertex 

form. 

 

1) 
 
 
 
 
 
 
 
 
2) 

 

 

   

 


